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1. OOOono 1

1 0000

0 CIAO (Code for Investigating Atomic Orbitals)D 000 000000000000000O00O0O0DOOO
000000000000 000000000000000000000000000000000000000
0000000000000 000D0O0000000O0000PHASED OO OODOODOOODOOOODOOOOOO

00000o0o0o0oU0oo00oU0OoO (00)00000000000o0000000OU0OUO0OD0D0o00oOoOooOUOoOOd
0000000000000000000000000000000000000000 [(18)2(25)%(2p)%](35)2(3p)?
00000[ |]0000000000000000 (3s)?(3p)?00000000000000000000DDOO
0000000000000 00000000000000000O000000000000000000000
0(000000)00000000000000000000000D000D00DO0U0O00Oo0DOoOoDooooo
ggbooboobbooboobboobuoobboobbooboobbooboobboobooboan
ooomclAooooooooooooooooooooo0ooooooooo0o0oooooooooo

OClAO0O0O0000000O00000PHASEDOOOOOOOOO0OOOOO0OO0O0O0000O0O0O0O0Mm CIAOO
000000000000 00000000000000D0D00000000000000000000000
g0o000oo00O0DooO000DOO0U0000DCIAOGODDODOOPHASEDDOODOODOOODOODODOOO
goboboooboobobooboooboobboooboobobooboobboobooobooboon
00o000o0o0oo0o0o0o0o0o00oDoO00o0oo0o0o0o0oUoO00o0DOoUOO0ooooOo

O00Tuterial 0000000000000 0O0000C0O0O0O0COO0OCODOCIAOODOO0OOO0OO0B000O
O0000000000000000000User’'sManualJOOOOOO0O0000O0O0O0O0O0OO0O0O0O0COOO
D00 Tworial D00 00000000000 000OO0O0DOOO

2 JOoooooob

O0CIAOUD0D0D0000000000ODN “caovxxx.tar.gz” (000 xxx00OO0O0OO0ODO)000O0OO
gboboobooboooooboboooooboooooboooboo

% gunzip < ciao_vxxx.tar.gz | tar xvf -
gooo
% tar xzf ciao_vxxx.tar.gz

oo
googoo

ciao_vxxx/
COPYRIGHT
LICENSE
LICENSE_J.pdf
README
bin/
doc/
examples/
outs/
src_ciao/
src_ppconv/
templates/
tools/
tutorials/
win/

o0o0o0ooD0oooooooDOo0g“in” 00000000 “iao” O “ppconv’ OODOODODOODOODO
“doc” D00 O00ODOCOOODOOOODO“examples” OO0O00ODOOOOODOOOOODOOOOODODOOOODO
goodoooooooooooooooooooDooobO“uws”D0O0O000COODOO0O0O0O00O0O0O0O0O0O00O0O0
00 “templates” 0000000000000 O0O00O0ODDDOOOOO0O0ODOOOOO%ools"00DOOOO



3. DOoOoOooooo 2

00000oooooooooooooUgU “utorials” D000 0O0 Tuterial 00D OODODOOO0ODDDDOO “win”
O00Windows JO0OOOOO0OO00O0DOOCODO “srccppeconv” 0000000 DOOOCOOOOODOOOOO
g00o0o0oDDoOOo0O000000oooo0d «doc” DOOOOOOODODOCOOOOOOOOONO “sre_ciao” O
gbooooooobooooboooooboobooo

Makefile
Makefile.Absoft
Makefile.Altix
Makefile.GNU
Makefile.Generic
Makefile.Hitachi
Makefile.Intel
Makefile.Intel2
Makefile.Windows

lib_bessel.f90
lib_gamma.f90
lib_int_deri.f90
lib_integer.£90
1lib_kohn_sham.f90
1lib_linalg.£90
1lib_mesh.£f90
lib_momo_xc_gga.f90
1lib_momo_xc_lda.f90

pp_tm.£90
pp_tmso.£90
pp_us.f90
reading.f£90
rel_correction.f90
sample_pp_r02.£90
sample_pp_rl2.£90
scf.£90
sol_boundstate.f90

args.f90 1lib_momo_xc_special.f90 sol_charge.f90
boundstate.f90 1lib_polynomial.f90 sol_fermi_level.f90
charge.f90 lib_real.f90 sol_init_state.f90
convergence.f90 lib_string.£f90 sol_logderi.f90
core_hole.f90 lib_time.£f90 sol_pcc.£90
defaults.f90 logderi.£f90 sol_pp.£90
dion_analysis.f90 main_ciao.f£f90 sol_scf.f90

dipole.£f90 mixing.£90 sol_total_energy.f90
fermi_level.f90 pao.f£90 sol_xc_momo.f90
file.£90 parameters.f£90 spin_orbit.£90
fourier.£90 pc_adams.£90 total_energy.£90
ghost_state.f90 pcc.£90 unboundstate.f£90
hubbard.£90 potential.f90 version.f90
init_state.f90 pp.£90 writing.f£90
lib_atom_table.f90 pp_bhs.£90 xc_momo.£90

OCIAOO 0000000000 Fortran 90000 O0O0O0OO0OODOODODOODOOO “M0000000000000O
0 “main_ciao.f90 7 0 00O

3 Uuoboboon

3.1 0Oooooo

OCIAOOOOFortran 90000000000 COOODOOOOOOOOOOOOOOODOOOCIAOOOOO
gboooobobooooboboooooboooobooboooon

3.2 0000000

00000000 “srcciac” OO0 OO “make compiler” O 000000000 000OQO “compiler” 00 100
go0opoooOoooooOooooooooooooooo

O LI:make00D0OOO

(00000 (00000

generic gobgooon
absoft Absoft Pro Fortran
intel Intel Fortran Compiler (ifc)
intel2 Intel Fortran Compiler (ifort)
gnu GNU Fortran Compiler (g95)




3. DOoOoOooooo 3

0 1: make 000000 (O0O)

(00000 (00000 |

altix SGI LX3700 (efc)
hitachi Hitachi SR8000
win Intel Visual Fortran (ifort) for Windows
help HelpODOOOOOOO
— HelpOOGQOOOOOO

0000000000000 helpdO00D0OOOOO0OODOODOOOOOODODOO “Absoft Pro Fortran” 0 O
ggooaoo

% make absoft
0000000000 “Intel Fortran Compiler (ifort)” 00000000
% make intel2

0000000000000 0O0O0000O0000D “make generic”’ O0O000OO0O0DOOOOOOODOOOO
O0D0000DDO “Makefile.Generic” 0000000000000 0OO0OOCO0ODOOO0ODOO “make generic”
00000000000 000D “Makefile.Generic’c 00000000000 O0O0O0ODOOOOOOOOODOO

##### Generic compiler #####
F77 = £77

F77_0OPTS =

F90 = £90

F90_0OPTS =

LINK = £90

L_OPTS

LIBS = -1077

gooo-lurrOO00o0ooooooooooooooooooooooooboboogooooDoboooOoo
gbooooboooobobooooboobooooooobooooboobooobooboooooboooobooboboono
Makefile 0000000000 0OOOCOOCCOOOOOOOODOD “lao”000000ODODODODOODOOOOOOO
“bin” 0000000000 O0O0O00OO00000000O0

% make install

0000 %“ia0” 0 “bin” OO0OODODODODO

3.3 Uoon

OCIAOUD 000000000 %uts” 000000000000 0000000000000 “npwt” (00
0o0oooo)ooooo

% ../../../bin/ciao input &

000000mCclAOD00D00000N0N000D00OO “uts"0200000000000000000O
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4 QOO0

oooooooo

ciao/examples/
gooooOoOoo0O0OoooOoOoOoOoOooooooooooooooooo
% ../../../bin/ciao input &

0000000000000 00000000000000000000000000000 00 User’s Manuald
O00oO0o0oooooo
000 Tutoriald O O O

ciao/tutorials/

gooddooogoogoooooooooociAogooooooooooooopooooooooooooooo

4.1 0O0OO0OOO0O0OOODOO

oclAOOD000000000ODO0O00000000D0000DO0OODODOO0000D00DODOODODOO0O0OOO
gboooboooooboobooboobooOoobooooboooobooooboboboOoobobOOoooboOoobooOobboOoboooon
ooo0o0O0O000OooOoOO0OO0O00O0OoOoOoOOOOO0OOOoOOOOocCciIACCDOODOOOooooooDOod
gbooooboooobooooooo

4.1.1 0OO0OOO
gboooobooboooooboooooan
ciao/tutorials/atom_01_H/lda/

gboooooobooooooo
input

goo0opDoooo0on0 “mput” 000000 “npuwt” OO0O00D0O0OO0O0DOOCOO0OO

jobname test_O1_H_lda

atom_number 1 1.0

electron_config 1 nonrel restricted
1s 1.0 1

end

0000000000000 000o (LDA-PWI)ODODO0OUO0O0O0OO0OOO0O0O0O0O0OO0OO0ODO0ODO0OD0OOO
gbooogoobooooboooooo

“jobname” 0D OO0 “test 01 HIda” OOOO0ODOODOOOOOOOOODODODOOOOODOOOOOOOO
gbooooogooo

“atomnumber” OO0 00000000000 DO0OODOOOODOOOOD 1000000D0OC0O 10000
gboooobooocooooo

“electron_config” 00 0000000000000 00D0O“1D0000C0O00C0O0O 100 “nonrel” 0000
O0“restricted” OO0 O0O00ODOOOO0O0ODOOOOOODOCOOODOOOOOOODOOOOOODODOOOO
gooooooooOOoOo0o0000oo0o0oonolsbobob0o0 1oo0ooooDoOb0b0000 “1s"001s0
o000 “1.00000D00000 0000000000000 0O00O0O0O0O00

“end” D000D0O0O0O0DOOOODOOnd” 00000000000 O0ODO0O0OOODOOO0ODO
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4.1.2 0OO00OO0O0OO0OOOOO
gclAoooooooood
% ../../../bin/ciao input &

gboooooboooooo

% grep ETOT test_01_H_lda.log

### ETOT ### etot,dee ... 1
### ETOT ### etot,dee ... 2
### ETOT ### etot,dee ... 3
### ETOT ### etot,dee ... 4
### ETOT ### etot,dee ... 5
### ETOT ### etot,dee 42
### ETOT ### etot,dee 43
### ETOT ### etot,dee 44
### ETOT ### etot,dee 45
### ETOT ### etot,dee 46

.559741022438242E-01
.548824069926662E-01
.530780157476057E-01
.513361818917073E-01
.498802887315748E-01

.456666635310508E-01
.456666607853787E-01
.456666588423921E-01
.456666574670491E-01
.456666564932633E-01

goboooboobbooboobooboobooboobooboo

4.1.3 0OO0OOO
googooon

test_01_H_lda.log
test_O1_H_lda.sum

0200000000000000000D00C000O0O0ODOO0O0ODDOO “test.01_HIdalog"OOOOOOOO
“test_01_H lda.sum” OO0 000000000 COOOOOODOOO

000 “test_.01_Hlda.sum” OO OOO0O

W wwNnO

N W d O

.440258977561758E-01
.394204508075816E-03
.966720227739287E-03
.844445758473292E-03
.225739966227278E-03

.708628792298764E-09
.160820089935945E-09
.359730659496428E-09
.086035221305503E-09
.185009386352460E-09

“sum” 0000000 0O0DOOOOOOO

inp
inp test_01_H_lda

inp
inp Atomic label & name

inp Number of protons & electrons:

inp--- Electron configuration
inp Calculation type
inp Spin type
inp Spin state

inp 1s

inp———-- Ion core potential
inp Ion core potential type
inp---- Exchange correlation
inp Exchange correlation type
inp-————-————- Mesh

inp Mesh type

inp Weight type
inp Number of mesh
inp Minimum radius
inp Maximum radius

inp Number of EC loop

1.00000 1

(Bohr), (A):
(Bohr), (A):
inp Order & Number of diff points:
inp Order of Predictor-Corrector :

H Hydrogen
1.00000 1.00000

Non-relativistic
Restricted
Automatic

1 0

Logarithmic (Standard)

Extended rule
1501
9.82426E-06
6.00000E+01
4 9
5
2

5.19878E-06
3.17506E+01
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inp
inp-
inp
inp
inp-
inp
inp
inp
inp-
inp
inp-
inp
inp
inp

oo

Order of expansion around r=0: 5
—————————— Mixing --———————————————————————————
Ratio of mixing rho 0.3000

Order of Anderson predictor : 0
—————— Conv criteria ------—-——————————————————-
SCF: Maximum loop : 150
SCF: Energy convergence dE/E: 1.00000E-08
WF : Energy convergence dE: 1.00000E-10
————————— Epsilon -~-————--""""""—————————
Eps for checking 1.00000E-10
———————— Switches - -
sw_calc_hubbard no
sw_write_rho yes
sw_debug no

gogbooobooboboooboooboobobooobooboooboobbooboobboooboOon

oo

000000000000000000000000000000000000000000000

0000
0000
0000
0000

o]¢]
o] ¢]
e]e]
e]e]

Non-Relativistic
Atomic States

(o]¢]
(o]e]
(o]e]
(o]e]

0000
0000
0000
0000

000000000000000000000000000000000000000000000

SCF calculation converged after

eng
eng

eng

Energy levels [All-electron]

Element ---> H
o 1 R e b

46 iter

ations.

(S £

eng

eNg =TT T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T e e e

eng

etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot

nocc focc
2 1.00000
1.00000

.4248466423
.9208204011
.2827679967
.2324777410

.5606648867
.0567970139
.6945083821
.3260409505

.4248634889
.1930708041
.0394069369
.2574277388
.0456081937
.3030359325
.2334568514

.5611233060
.25637236810
.0723172695
.0049649080
.2410620477
.2460269556
.3526838993

.4456835031
.4456666565

.1276646956
.1272062763



goooooooooooooooooobobobo0oooooDoboOooooobOoOoDDObO0OOoooODO0OO0oo0D 460
U0001s00000000 —-6.3526838993 eV IO ODOODOODOODLOOOOOD 20000 100000O
gbooboOo0O —12.1272062763 eV OO OOO0ODOO0O0O0OD0ODOO0DOOODOO00O0OO0O0O0O0D000O0O Egip
0OF,, 000000000E,, 000000000000FE, 0 HartreeOOOOOOE, . O0O00O0O0O0O000OO
oooooooooon By, 0 B, 02000000000000000000000000000O00C0O0O0O
gboobobobobobobobobobobooboobooOooOoboOobOOoboobobOOobobOobOobOoDbOonn
E..0 B, 000000DO00000O0O02000000000000000000000D0O0O00O0O0ODOO

gobooobooboobooboobobobobobooboooboo

4.2 0O0OO0OO0O0OO0OO0OOOO

oboboobobooboooooooboooboobOobobOobooboboobooooobOoboOobOobOoboDbn
gboooobobooobooboooobobooobooboooogoo

4.2.1 0O0O0OO0OO
gbobooooobooooobobooooon

ciao/tutorials/atom_06_C/lda_spin/

000D00ODOO0O0OO0000D0O0O0O “input_nonrel spin”0 “input_srel spin”0 “input_rel spin” 0 30000000
0000000 0o0oU0ooO00oDoO0ooDoO0o0oo00ooo0DOoOO00ooooooDooooooooOog
0000000000000 000D0000oOoO0DO0OO “anputnonrel spin” 0000000 O0ODOOOOO
ooo

# Jobname
jobname test_06_C_lda_nonrel_spin

# Atom number & Electron configuration
#  (calc_type : nonrel, srel, rel)
# (spin_type : restricted, polarized)

atom_number 6 6.0
electron_config 6 nonrel polarized manual
1s 1.0 1.0 1
2s 1.0 1.0 1
2p 2.0 0.0 1
3s 0.0 0.0 O
3p 0.0 0.0 O
3d 0.0 0.0 O

# Exchange-correlation potential
#  (xc_type : ldapz81, ldapw9l, ggapbe, xlda, none)
xc_potential  ldapw91

# Switches
sw_calc_hubbard 1
sw_write_rho 1

# End of input data
end
end

gbooooboobooooobooooboobooooobobooooboOobooo
“4#'00D000000oo00oooooon
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“xcpotential”’ 00 0000000000000 00O0O0OO0OO LDAPWIY)OOOODOOOOO

“# Switches” 00 D000 000DOOOOOO0ODODODOODO“10 YesOD“0”0 NoODODOOOODOOOOOO
goo0o00o0O00D0DOO00ODOODODOO0D0OO “swcalcchubbard” 0000 OO0DOOOO0ODOOOOOOCOODOO

“swwritetho” 00000000000 OOO0OOOOO

4.2.2 0O0000O0OOO0O0OO

gobgooobooaoo

% ../../../bin/ciao input_nonrel_spin &

0000Doo000oo0oDoo000oDoo00Doo000oDoOo0oooODoOoOOoooDooOO
000000000 “inputnonrel spin” OO0 OOOOOO

% grep ETOT test_06_C_lda_nonrel_spin.log

### ETOT ### etot,dee ... 1 -3.828954527531906E+01 3.728954527531906E+01
### ETOT ### etot,dee ... 2 -3.794629447887961E+01 8.964608850048078E-03
### ETOT ### etot,dee ... 3 -3.775102028350591E+01 5.146067568794971E-03
### ETOT ### etot,dee ... 4  -3.763945244388275E+01 2.955359584596494E-03
### ETOT ### etot,dee ... 5 -3.757464154117138E+01 1.721887501100062E-03
### ETOT ### etot,dee 37 -3.746825789388982E+01 8.292068368596910E-09
### ETOT ### etot,dee 38 -3.746825767764874E+01 5.771314063180537E-09
### ETOT ### etot,dee 39  -3.746825752714323E+01 4.016880315572092E-09
### ETOT ### etot,dee ... 40  -3.746825742239397E+01 2.795679903921120E-09
### ETOT ### etot,dee ... 41 -3.746825734948887E+01 1.945783108556617E-09
gobooon

4.2.3 0O0O0OOO

gbooboooboooobooboooooo3doobooooooboooboosbooooobooobOoonn
gbooogooonoobooooboobooon

test_06_C_lda_nonrel_spin.log
test_06_C_lda_nonrel_spin.rho
test_06_C_lda_nonrel_spin.sum
test_06_C_lda_rel_spin.log
test_06_C_lda_rel_spin.rho
test_06_C_lda_rel_spin.sum
test_06_C_lda_srel_spin.log
test_06_C_lda_srel_spin.rho
test_06_C_lda_srel_spin.sum

cshoO0ODODOODOOODOODOODOODOODOODOODOODOODOOOdlog0OODOOOOOO.sumOd0O0O
0oo0oO0oDOo00O0DO0o0o00D0oOoO0DOd00o00D0osusm 0000000000 0ODOODO0O0O0OODO
“test_06_C_lda_nonrel spin.sum” 000000

“test_06_C_lda_nonrel spin.sum” 000 00000000000 OOOOO

inp
inp
inp
inp Atomic label & name : C Carbon

inp Number of protons & electrons: 6.00000 6.00000

inp--- Electron configuration ----————------—-—————————————————————
inp Calculation type Non-relativistic

test_06_C_lda_nonrel_spin
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inp Spin type : Polarized

inp Spin state : up & down specified

inp 1s 1.00000 1.00000 1 1 0

inp 2s 1.00000 1.00000 1 2 0

inp 2p 2.00000 0.00000 1 2 1

inp 3s 0.00000 0.00000 0 3 0

inp 3p 0.00000 0.00000 0 3 1

inp 3d 0.00000 0.00000 0 3 2

inp———-- Ion core potential ---——-——""-"""""""""""""""""—————————
inp Ion core potential type i -Z/r

inp---- Exchange correlation ----—————---—--———————————————————————
inp Exchange correlation type : LDA (PW92-MOMO)

inp-————————- vesh ------------------------ - - - - - - - - - ——"—"""—"—""—"——
inp Mesh type : Logarithmic (Standard)

inp Weight type : Extended rule

inp Number of mesh : 1501

inp Minimum radius (Bohr), (A): 9.82426E-06 5.19878E-06
inp Maximum radius (Bohr), (A): 6.00000E+01 3.17506E+01
inp Order & Number of diff points: 4 9

inp Order of Predictor-Corrector : 5

inp Number of EC loop : 2

inp 0Order of expansion around r=0: 5

inp-——————————- Mixing ---———————————————————————— - ——————
inp Ratio of mixing rho : 0.3000 0.3000
inp Order of Anderson predictor : 0

inp------- Conv criteria --———-------——————————————————————————————
inp SCF: Maximum loop : 150

inp SCF: Energy convergence dE/E: 1.00000E-08

inp WF : Energy convergence dE: 1.00000E-10

inp—————————- Epsilon """ —————
inp Eps for checking : 1.00000E-10

inp---—------ Switches --------—7 - ———
inp sw_calc_hubbard : yes

inp sw_write_rho : yes

inp sw_debug : no

inp-——————"—-—— T

gbbooobobooobooboboooboobooooboboooooboooooon

000000000000000000000O0OO0O0000000000000000000

000000 000000
000000 Non-Relativistic 000000
000000 Atomic States 000000
000000 000000

000000000000000000000000000000000000000000000
SCF calculation converged after 41 iterations.

eng Energy levels [All-electron]
eng Element ---> C

O
eng  symm s Energy (Ha) Energy (eV) mnocc focc
I g — T o
eng 1s + -9.9402762094 -270.4886674324 1 1.00000
eng 1s - -9.9055650143 -269.5441277927 1 1.00000
eng 2s + -0.5309261485 -14.4472350062 1 1.00000
eng 2s - -0.4353981158 -11.8477850789 1 1.00000
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eng 2p + -0.2272178247 -6.1829113515 3 2.00000
eng 2p - -0.1396403225 -3.7998063592 3 0.00000
T Y
eng Number of electrons (+) 4.00000
eng -) 2.00000
] Yttt
etot Total energy [All-electron]

etot-——————-"""""""""""—————————— -

etot Energy (Ha) Energy (eV)
etot------------\- +----------------"----——-——\—\—"—"—\——~

etot Ekin 37.2338357657 1013.1841819634

etot Eion -87.6445673270 -2384.9299279682

etot Eh 17.7218069076 482.2348830132

etot Exc -4.7871028871 -130.2636922282
etot-------------------————————————————————————=

etot Ekin* 37.2416059570 1013.3956196176

etot Ex -4.4301912841 -120.5516337442

etot Ec -0.3569116030 -9.7120584840

etot Vx -5.9069217223 -160.7355119357

etot Vc -0.4003318603 -10.89356837533

etot Vxc -6.3072535826 -171.6290956891

etot Eband -21.2666011373 -578.6936380132
etot-——————-""""""—"——-——————————

etot Etot -37.4760275408 -1019.7745552197

etot Etot* -37.4682573495 -1019.5631175655
etot-------------------"\-------------------———\——-

gooooooooooboo 41 000000000000O0DOO0OO0OOOOODOOOOODOODOOO0O0
gbooooboobooooooboooo

rho data were saved into ... test_06_C_lda_nonrel_spin.rho

OO000o0DO0O0O000 “test.06_.Cldamonrel spintho” 000000000 DOCOCOOOOOCOOOOOOOOO
oon

sw_write_rho 1

OO0o0O0o0o0O0000DooO0O0oO00oDOn “test-06_C_ldanonrel spin.tho” 0000000000 0OCOOOO
O00D0O0OO000D0OHartree0DOOOO0ODOOOO0OO0ODOOOODOOOODOOOOODOOOOODOO
gboobooboobooooobooooboboooobooboooogo

rmax Positions of the outer-most maximum of G(r)

TMAX——— === —
rmax  symm s rm (Bohr) rm (A)
TMAX————— =~
rmax 1s + 0.1756979817 0.0929753675
rmax 1s - 0.1756979817 0.0929753675
rmax 2s + 1.2069476416 0.6386891835
rmax 2s - 1.2323561370 0.6521347802
rmax 2p + 1.1698137665 0.6190387832
rmax 2p - 1.2452602724 0.6589633546
11D e e

gboooooboobooooboboooobooboooooaooo

hubbard Hubbard U (On-Site Coulomb Energy) [Diagonall

hubbard
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hubbard symm m s

Energy (Ha)

Energy (eV)

hubbard------========——— =

hubbard 1s
hubbard 1s
hubbard 2s
hubbard 2s
hubbard
hubbard 2p
hubbard 2p
hubbard 2p -
hubbard 2p
hubbard 2p

N
el
|
P O FRr P, OFr OOOO

1.7273213094
1.7328219397
0.2908549342
0.2799185803
0.2727434054
0.2870469823
0.2727434054
0.2440221035
0.2565055940
0.2440221035

47.0028024736
47.1524822354
7.9145651392
7.6169718211
7.4217253840
7.8109455008
7.4217253840
6.6401790251
6.9798720728
6.6401790251

hubbard------========—— == -

hubbard Hubbard U (On-Site Coulomb Energy) [0ff-Diagonall

hubbarq----------- - - - - — -

hubbard——————————
.2584398284 7
.2727434054 7
.2584398284 7.
6
6
6

hubbard symm ml s1
hubbard 2p -1 +
hubbard 2p -1 +
hubbard 2p 0 +
hubbard 2p -1 -
hubbard 2p -1 -
hubbard 2p 0 -

.2315386129
.2440221035
.2315386129

obobooooobooooobobooooboboboooobooon
ubooooosoboboooobobobooooooooobooboobobobooboooo0oooooon
gboooobooboooobobooo

% grep Etot *.sum

test_06_C_lda_nonrel_spin.
test_06_C_lda_nonrel_spin.
test_06_C_lda_nonrel_spin.
test_06_C_lda_nonrel_spin.

sum:
sum:
sum:
sum:
test_06_C_lda_rel_spin.sum: etot Etot
test_06_C_lda_rel_spin.sum: etot Etot = Eband - Eh + (Exc - Vxc)
test_06_C_lda_srel_spin.sum: etot Etot
test_06_C_lda_srel_spin.sum: etot Etot = Eband - Eh + (Exc - Vxc)

etot Etot
etot Etot*
etot Etot
etot Etot*

-37.4760275408
-37.4682573495

-37.4844707524

.0325052672
.4217253840

03250562672

.3004859774
.6401790251
.3004859774
DU AT A —mm e e o

-1019.7745552197
-1019.5631175655

= Ekin + Eion + Eh + Exc
Eband - Eh + (Exc - Vxc)
-37.4845844585 -1020.0074007899

-1020.0043066898

11

00000 Ewy (D0OO nonrel000O00O0ODO0O0O Ef,)0O020000000000000000000O0O
gboboooboooobooobooboooboobooooboooboobooooboooo0ooobooobooobooOoooboOooon
goboboboboboooobooboboboboboooooboboboboboobobobooboon
gobooboboobooboooboobbooboobbooboobobooobooboobobooboon

obooooooo

U2000000000000000000

O

00000 (eV/atom)

oooooon

gogd

ooo

-1019.5631
-1020.0043
-1020.0074
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4.3 0O0O0OO0O0O0OOOOO0OO0OOObOOO0

gboboobooooooooooobooooboobobOoboobooooobooooooooobOoboboon
gboooog

4.3.1 0O0O0O0O0O
000ooooooooOooooooooooooooood
ciao/tutorials/atom_06_C/lda_nc/

000ooo0ooooOooooooooooooo

# Jobname
jobname test_06_C_lda_nc

# Atom number & Electron configuration
# (calc_type : nonrel, srel, rel)
# (spin_type : restricted, polarized)

atom_number 6 6.0
electron_config 6 srel restricted

1s 2.0 1

2s 2.0 1

2r 2.0 1

3s 0.0 O

3p 0.0 O

3d 0.0 O

# Exchange-correlation potential
#  (xc_type : ldapz81, ldapw9l, ggapbe, xlda, none)
xc_potential  ldapw91l

# Pseudopotential (pp_type : nc, general, none)
pseudo_potential nc

local orbital d
orbitals 3

2s 1.45

2p 1.45

3d 1.45

# Solve PP spin
solve_pp_spin

spin polarized 2.0
mix 0.30

# End of input data
end

000000000000 00O00O000O0OD 2s0203d00000000O00O0O0O (NC)DoOoooOoO
00 res = 14507, =1450r,¢ = 1450000000000 40000000000 Troullier-Martins 0 O O
oooooooooooooooooo

oclAoO0D00DoOo000ooooooo0oo000U00DooOo0000ooDoOoOo00oO0oDoOoOoOooooon
ooooooooooooon

00000O0DO0O0O0O0DO0ODOO0D0d “pseudo_potential”’ 0000 ODOOOODOONO User’s Manualll 00O O
000000000000 000000000DoOoOO0ng “pseudo-potential” 000 “ne” OO0ODOOOOO
000000 cal” 000000000000 D0OOD0O0ODOODO0OdODO0O0O0O00OD0ODO0OO “orbitals” 000
000000000000 00DbO0DoD0DO00oDoD0oo0o0 30000000000 0030000000000
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goooooooDOo0ooooooDo0obo0o0oooDbDboObO2s02p03d00000000000O0O0 1.45 Bohr

gobobooon

“solve.ppspin” 000000000000 OO0O0DOOOOOOODOOOOOODODOOOOOODOOOODO

gboooz200000000000

OPHASEO O OOOOOOOOOOOOOOOOOOOOOOGNCPPOOO GNCPP2O0O0O0OOOOOO

OO0 GNCpPP2O0O0O0OOOOOOOOO

4.3.2 0OO0OO0OO0OOOOOO

gboooooooooon

% ../../../bin/ciao input &

gbooooooooon

gbooooboooooboo

% grep ETOT test_06_C_lda_nc.log

### ETOT ### etot,dee ... 1 -3.815483474707555E+01 3.715483474707555E+01
### ETOT ### etot,dee ... 2 -3.786628402734097E+01 7.562625330376952E-03
### ETOT ### etot,dee ... 3 -3.769797851670442E+01 4.444732694526341E-03
### ETOT ### etot,dee ... 4 -3.760003389771333E+01 2.598139816640106E-03
### ETOT ### etot,dee ... 5 -3.754202316415265E+01 1.542837267606992E-03
### ETOT ### etot,dee ... 37 -3.744059771489398E+01 8.785367032223400E-09
### ETOT ### etot,dee ... 38  -3.744059748588376E+01 6.116628469391214E-09
### ETOT ### etot,dee ... 39  -3.744059732644782E+01 4.258370469032544E-09
### ETOT ### etot,dee ... 40  -3.744059721542435E+01 2.965323279701078E-09
### ETOT ### etot,dee ... 41 -3.744059713810221E+01 2.065195008190863E-09

gobooobuoobgoobooobobobobbobooboobooboobooo

% grep STOT test_06_C_lda_nc.log

### STOT ### etot,dee ... 1 -5.433271661305784E+00 4.433271661305784E+00
### STOT ### etot,dee ... 2  -5.414503476446264E+00 3.454306360784779E-03
### STOT ### etot,dee ... 3 -5.405190013230463E+00 1.720095527930712E-03
### STOT ### etot,dee ... 4 -5.400569786562377E+00 8.547759943271309E-04
### STOT ### etot,dee ... 5 -5.398264396546713E+00 4.268790343937834E-04
### STOT ### etot,dee ... 18 -5.395826566174820E+00 2.402975197770577E-07
### STOT ### etot,dee ... 19  -5.395825791053433E+00 1.436520203185583E-07
### STOT ### etot,dee ... 20 -5.395825336082700E+00 8.431901820152440E-08
### STOT ### etot,dee ... 21 -5.395825076966356E+00 4.802163290203239E-08
### STOT ### etot,dee ... 22  -5.395824936564620E+00 2.602043884976640E-08

ggbgboboobooboobooon

4.3.3 DOOO0O0OO

gobooboooooboobooboobooo

test_06_C_lda_nc.ciaopp
test_06_C_lda_nc.ft
test_06_C_lda_nc.gncpp2
test_06_C_lda_nc.ldr
test_06_C_lda_nc.log

test_06_C_lda_nc.pp
test_06_C_lda_nc.rho
test_06_C_lda_nc.sol
test_06_C_lda_nc.sum
test_06_C_lda_nc.us



4

oono

000000 “est06Cldancsum” 0000000 COCOCOCOOOOOO

inp
inp test_06_C_lda_nc

inp
inp Atomic label & name

inp Number of protons & electrons:
inp--- Electron configuration -----————--------—————————————————————

inp Calculation type
inp Spin type
inp Spin state

inp 1s 2.00000 1
inp 2s 2.00000 1
inp 2p 2.00000 1
inp 3s 0.00000 0
inp 3p 0.00000 0
inp 3d 0.00000 0

inp———-- Ion core potential --———-——""-""""""""""""""""""————————

inp Ion core potential type

inp---- Exchange correlation ----————--—---————————————————————————

inp Exchange correlation type

inp------ Pseudopotential ——--=——-=—=—---——-————————— oo

inp Pseudopotential type
inp Angular momentum of Vloc
inp Angular momentum maximum

inp 2s NC
inp 1.45000
inp 2p NC
inp 1.45000
inp 3d NC
inp 1.45000

inp -—————————- rccC ----------------—-——-"-"—-"—-—-—————————————————

inp PCC type

inp --——--- Solve PP spin --————------————————mm

inp Solve PP spin type
inp Spin type

inp Specified spin state
inp Ratio of mixing rho

inp ———————- Logderi —-—--——————=—==——————————————— - ————

inp Logderi type
inp Logderi method
inp Logderi nonlocal potential

inp Number of divisions in energy:

inp Minimum energy (Ha) , (eV):
inp Maximum energy (Ha), (eV):

inp--—-—-——————- Fourier -------------- - - - -

inp Fourier transform type

inp Number of divisions in k-vec :
inp Minimum k-vec (1/Bohr),(1/A):
inp Maximum k-vec (1/Bohr),(1/A):
inp-——-------- Mesh ------——7-""------————

inp Mesh type

inp Weight type
inp Number of mesh
inp Minimum radius
inp Maximum radius

(Bohr), (A):
(Bohr), (A):

C Carbon
6.00000 6.00000

Scalar-relativistic

Restricted
Automatic

Troullier-Martins GNCPP

d
d
1
.00000 0.00000
1
.00000 0.00000
1
.00000 0.00000

Calculation

Polarized
2.00000
0.30000

Manual range
Fredholm method
Separable
3001
-1.00000E+01  -2.72114E+02
5.00000E+00 1.36057E+02

Manual range
300
5.00000E-02 9.44863E-02
1.50000E+01 2.83459E+01

Logarithmic (Standard)
Extended rule
1501
9.82426E-06 5.19878E-06
6.00000E+01 3.17506E+01

14



4. OO0

inp Order & Number of diff points: 4 9

inp Order of Predictor-Corrector : 5

inp Number of EC loop : 2

inp Order of expansion around r=0: 5

inp--—-——--—————- Mixing ----——————————-———————— - —————
inp Ratio of mixing rho : 0.3000 0.3000
inp Order of Anderson predictor : 0

inp------- Conv criteria -—-———-------—————————————
inp SCF: Maximum loop : 150

inp SCF: Energy convergence dE/E: 1.00000E-08

inp WF : Energy convergence dE: 1.00000E-10

inp-——-————————- Epsilon ------————----"""————
inp Eps for checking : 1.00000E-10

inp---—------ Switches -------————------—————
inp sw_calc_hubbard : no

inp sw_write_rho : yes

inp sw_write_pcc : yes

inp sw_write_us : yes

inp sw_write_gps : yes

inp sw_write_pp : yes

inp sw_write_ciaopp : yes

inp sw_write_gncpp : no

inp sw_write_gncpp2 : yes

inp sw_write_sol : yes

inp sw_write_logderi : yes

inp sw_write_fourier : yes

inp sw_with_dipole : yes

inp sw_with_core : yes

inp sw_with_ae : no

inp sw_debug : no

inp-————————-——- T

goboobobobooboobooboobooboobooboobobbobooon
oboooobooobooooboooobooboooo

000000000000000000000000000000000000000000000

000000 000000
000000 Scalar Relativistic 000000
000000 Atomic States 000000
000000 000000

000000000000000000000000000000000000000000000
SCF calculation converged after 41 iterationms.

eng Energy levels [All-electron]

eng Element ---> C

o Yt
eng  symm Energy (Ha) Energy (eV) nocc focc

S Y
eng 1s -9.9519701910 -270.8068768515 2 2.00000
eng 2s -0.5012353821 -13.6393081754 2 2.00000
eng 2p -0.1990292897 -5.4158623166 6 2.00000

] Y ittt
eng Total number of electrons 6.00000
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etot Total energy [All-electron]

etot-————---———————————---————— oo
etot Energy (Ha) Energy (eV)
etot-——"——-"""""""""""——————————
etot Ekin 37.2354471978 1013.2280312602
etot Eion -87.5807031965 -2383.1920966254
etot Eh 17.6342323884 479.8518591905
etot Exc -4.7295735278 -128.6982387727
etot-———————-"""""""""———————————— -
etot Ex -4.3580516828 -118.5886153928
etot Ec -0.3715218450 -10.1096233799
etot Vx -5.8107355771 -158.1181538571
etot Vc -0.4169429265 -11.3455938455
etot Vxc -6.2276785036 -169.4637477027
etot Eband -21.3044697255 -579.7240946869
etot-------------------————————————————————————=
etot Etot -37.4405971381 -1018.8104449475
etot-—————--———————————---——-——— oo

0000000000000 0oO000O00ooOOU0O00O0OO0oOU0O0OO0 (D 200)000000OO0O0OO
gboooobooooboboooobobooboobooooboobooooboooooboOooboon
gobooooooooooobobooooobooboog

rmax Positions of the outer-most maximum of G(r)

I == === ===
rmax  symm rm (Bohr) rm (A)
T === = ===
rmax 1s 0.1756979817 0.0929753675
rmax 2s 1.2195857219 0.6453769676
rmax 2p 1.1944405247 0.6320707023
T~ — === ==

gbooboobooboobobooooboooobooooo

2.7198984967
1.4500000000
1.4550891231

5.1398632708
2.7401028942
2.7497199431

Core charge radius (Bohr), (A):
Maximum ps radius (Bohr),(A):
1/2 of n.n. distance (B),(A):

000020000000000000000000COOO0OUDOO3000000O000OOO0O0OUODOO (O
00)00020000030000000000.sum000000 “##4# CAUTION ###” 0000000
gbooobooboooboooooboo

O000D0O00000O0O00DO0O0000DO0D00O000 phiOOO0OO 00 c20 c4d c60 ¢80 c100c120 0
oo0o0opDooD 2s02p034000

Troullier-Martins norm-conserving phi[n](r) was solved.
(n,1,t) : 2 0 1 NC

rc, nrc : 1.4407702920 1143

eref, de : -0.5012353821 0.0000000000

ncoeff ,nk: 6 4

c0,c2,cd : -0.3368862777 0.3009287937 -0.0181116278
c6,c8,cl10: -0.4570528414 0.3262135669 -0.0923338383
cl2 0.0096948334

rphi (rc) rphi’ (rc) rphi" (rc)

Exact 0.7870693556 -0.2273943160 -0.7104720416
Analytic : 0.7870693556 -0.2273943160 -0.7104720416
Numerical: 0.7870693557 -0.2273943214 -0.7104679167

Exact

rphi"’ (rc)
2.2917357708

rphi"" (rc)
-4.6194880471

<phil|phi>rc
0.4868796696
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Analytic :
Numerical:

2.2917357708
2.29200562141

Troullier-Martins norm-conserving

(n,1,t)
rc, nrc :
eref, de :
ncoeff,nk:
c0,c2,c4d :
c6,c8,cl10:
cl2

Exact
Analytic :
Numerical:

Exact
Analytic :
Numerical:

Troullier-Martins norm-conserving phi[n] (r) was solved.

(n,1,t)
rc, nrc :
eref, de :
ncoeff ,nk:
c0,c2,c4d :
c6,c8,cl10:
cl2

Exact
Analytic :
Numerical:

Exact
Analytic :
Numerical:

2 1 1
1.4407702920
-0.1990292897
6
0.9017380086
0.7510005843
-0.0111455289
rphi(rc)
0.6890850362
0.6890850362
0.6890850362
rphi"’ (rc)
0.9753612579
0.9753612579
0.9751204988

3 2 1
1.4407702920
-0.1990292897
6
0.4149363863
0.2772153991
-0.0041055928
rphi(rc)
1.9443221441
1.9443221441
1.9443221441
rphi"’ (rc)
1.5013648932
1.5013648932
1.5010487561

-4.6194880471
-5.3365688461

phil[n] (r) was solved.

NC

1143
0.0000000000
4
-1.3937765586
-0.4337512275

rphi’ (rc)

-0.1291825598
-0.1291825598
-0.1291825549
rphi"" (rc)

-1.7670783005
-1.7670783005
-1.1612584267

NC

1143
0.0000000000
4
-0.6593805814
-0.1630283208

rphi’ (rc)

2.9987585672
2.9987585672
2.9987585736
rphi"" (rc)

1.7817834597
1.7817834596
2.3338443230

0.4868796696

-0.2775161565
0.1118888075

rphi" (rc)

-0.3746144512
-0.3746144512
-0.3746179459
<phi|phi>rc
0.4329736265

0.4329736265

-0.0483091946
0.0417008363

rphi" (rc)
2.6894817244
2.6894817244
2.6894785271
<phi|phi>rc
1.0000000000

1.0000000000

17

00000000 Troullier-Martins 000000000000 D0OO0O0000DO0OOO0 0000000000
gboobooboooooooooooboboboboboboboboboobobobobobobobooon
gboboo4000000000D000O000

obooooboooobooboooobobooobooboooooobon

Norms of psil[n] & phi[n] (0 < r < rcl)

n 1

2 0

2 1

3 2
Norms of
n 1

2 0

2 1

3 2

Reference energies E[n] & cutoff radii rcl([n]
E[n]

n
2

1
0

t

1
1
1

In tn

0 1 s1
1 1 pl
2 1 d1

<psi|psi>rcl
0.6977676329
0.6580073150
1.0000000000

psiln] & phi[n] (0O < r <R) : n =

t

1
1
1

In tn

0 1 s1
1 1 pl
2 1 d1

t 1n tn

1

0

1 NC -

<psilpsi>R

0.6977676329
0.6580073150
1.0000000000

0.50123563821

:n = (n,1,t) = (In,tn)

<phi|phi>rcl
0.6977676329
0.6580073149
1.0000000000

(n,1,t) = (1n,tn)

<phi|phi>R

0.6977676329
0.6580073149
1.0000000000

:n= (n,1,t) = (1n,tn)

rcl[n]
1.4407702920

nrcl
1143
1143
1143

nR
1143
1143
1143

nrcl[n]

1143
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2
3

O00D0O00000000 Kleinman-Bylander D00 0000000000 0DOOOODOOOOO

Integrals of deficit charges & <Vloc*Qps[nm]> :

1
0
1
2

Matrices B[nm], D[nm] & Dion[nm]

1
0
1
2

gobgobooooo

eng
eng

eng

oo
1 1 1
2 1 2

tn tm
1 1
1 1
1 1

tn tm
1 1
1 1
1 1

1 NC
1 NC

q [nm]

-0.199
-0.199

0.0000000000
0.0000000000
0.0000000000

B [nm]

0.3883307043
-0.1240008880
0.0000000000

gbobooooooobooobooboboboboboooooooobooboooobOobobOobOoboboon

.nm =

0292897
0292897

gps [nm
0.0000
0.0000
0.0000

a,t
D [nm]
0.3883

-0.1240
0.0000

1.4407702920
1.4407702920

0000000000 0Dpsi0DO0O000DOOphi0DOOOOO0ODOOO0ODO

]

000000
000000
000000

n,tm)
307042

008880
000000

Energy levels for the present PP [Solved]
Element ---> C
1

Energ

y (eV) noc

C

nm = (1,tn,tm)

<Vloc*Qps [nm]>
0.0000000000
0.0000000000
0.0000000000

Dion [nm]

0.3883307042
-0.1240008880
0.0000000000

eNg T
-0.5012388665
-0.1990308429
NG~ T T T

eng
eng

eng

etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot
etot

-13.6394
-5.4159

029924
045837

2
6

2.00000
2.00000

Ekin
Eion[NL]
Eion[LOC]
Eh

.1523644353
.5286575971
.0248438893
.3667751900
.3702943751
.0000000000

.7801973905
.3855045831
.2126378771
.8259940904
.2876056671
.0000000000

.1523695703
.4961862922
.0000000000
.1771563868
.1931379883
.5695418491
.2207312279
.7902730770
.4005394190

-312

.7803371220
.8271332941
.0000000000
.0320538109
.2555518562
.7094050812
.0064020798
.7158071610
.1106151522

.3473410421
.3473359070

.5085474803
.5084077488

1143
1143
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gbobooooooooobouobobobobobooooooooooooobobobOobOoboOoboon
obooooooo

eng Energy levels for the present PP [Solved]

eng Element ---> C

S Yt
eng  symm s Energy (Ha) Energy (eV) mnocc focc

L Y
eng 2s + -0.5331823148 -14.5086284125 1 1.00000
eng 2s - -0.4286097554 -11.6630644013 1 1.00000
eng 2p + -0.2291099747 -6.2343993714 3 2.00000
eng 2p - -0.1327984850 -3.6136304968 3 0.00000

S Y
eng Number of electrons (+) 3.00000
eng ) 1.00000

T Y

etot-----—"——"""—""""""————— e ————
etot Energy (Ha) Energy (eV)
etot-------------- - ————
etot Ekin 3.2657490187 88.8655487665
etot Eion[NL] 0.4909707473 13.3599932620
etot Eion[L0OC] -12.1367338637 -330.2573188744
etot Eh 4.4212261299 120.3076794961
etot Exc -1.4370419306 -39.1038989928
etot Epcc 0.0000000000 0.0000000000
etot-------------- - - ——— -
etot Ekinx 3.2657503437 88.8655848219
etot Eion -11.6457631164 -316.8973256124
etot VlocQps 0.0000000000 0.0000000000
etot Ex -1.2600125241 -34.2866839333
etot Ec -0.1770294065 -4.8172150595
etot Vx -1.6800166988 -45.7155785777
etot Vc -0.2024348079 -5.5085311806
etot Vxc -1.8824515068 -51.2241097583
etot Eband -1.4200120197 -38.6404915566
etot----------------- -----------------"-"-—-——"——"—"—"———————————
etot Etot -5.3958298984 -146.8279963426
etot Etotx* -5.3958285734 -146.8279602872
etot---------————————————— -

0000000000 {nfrjm)0 (np/m) 000000000000000000000000000000
000000000000000000000000000000000000 User’sManualJOOODODO00O
000

AE psil[boundstate]: n = (n1,11), m = (n2,12)
[n] - [m] <n|r|m> <nl|1/r|m>
2s-2p 1.6276592256 0.6509137699
where pr = (1/r)*(d/dr)*r

<n|prlm>
-0.1590975439

PP phi[solved+restricted]: n = (n1,11), m = (n2,12)
[(n]-[m] <n|r|m> <n|1/r|m>
2s-2p 1.6407567659 0.7652192659

where pr = (1/r)*(d/dr)*r

<n|pr|m>
0.0189330560

AE psil[boundstate]l: n = (n1,11,m1), m = (n2,12,m2)



oono

[n]-[m] <n|x|m> <nlylm> <nlz|m>
2s( 0)-2p(-1) 0.0000000000 0.9397294921 0.0000000000
2s( 0)-2p( 0) 0.0000000000 0.0000000000 0.9397294921
2s( 0)-2p( 1) 0.9397294921 0.0000000000 0.0000000000
PP phi[solved+restricted]: n = (n1,11,m1), m = (n2,12,m2)
[n]-[m] <n|x|m> <nl|ylm> <n|z|m>
2s( 0)-2p(-1) 0.0000000000 0.9472913605 0.0000000000
2s( 0)-2p( 0) 0.0000000000 0.0000000000 0.9472913605
2s( 0)-2p( 1) 0.9472913605 0.0000000000 0.0000000000
AE psi[boundstate]: n = (n1,11,m1), m = (n2,12,m2)
[n] - [m] <n|d/dx|m> <nl|d/dy|m> <nl|d/dz|m>
2s( 0)-2p(-1) 0.0000000000 0.2839502305 0.0000000000
2s( 0)-2p( 0) 0.0000000000 0.0000000000 0.2839502305
2s( 0)-2p( 1) 0.2839502305 0.0000000000 0.0000000000
PP phi[solved+restricted]: n = (n1,11,m1), m = (n2,12,m2)
[n] - [m] <nld/dx|m> <nl|d/dy|m> <nl|d/dz|m>
2s( 0)-2p(-1) 0.0000000000 0.4527305542 0.0000000000
2s( 0)-2p( 0) 0.0000000000 0.0000000000 0.4527305542
2s( 0)-2p( 1) 0.4527305542 0.0000000000 0.0000000000
[nlrlm] = <psiln]lrlpsilm]> - <philn]lrlphi[m]> = I[m|r|n]
[nl1/rlm] = <psiln]|1/rlpsilm]> - <philn]|1/rlphi[m]> = [m|1/r|n]
[nlprim] = <psil[n]lprlpsilm]> - <phil[n]|prlphi[m]l> = -[nl|prim]
where pr = (1/r)*(d/dr)*r
n = (ni1,11,t1), m = (n2,12,t2)
(n] - [m] (nlr|m] (nl1/r|m] [nlprim]
2s1-2p1 -0.0130982744 -0.1143060423 -0.1780303473
2p1-3d1 -0.0032934439 0.0018609812 -0.0084810782
[nlxlm] = <psiln]|x|psilm]> - <philn]|x|philm]> = [m|x|n]
[nlylm] = <psiln]|ylpsilm]l> - <phil[n]|ylphi[m]> = [ml|y|n]
[nlzlm] = <psil[n]|zl|psilm]> - <phi[n]|z|phi[m]> = [ml|z|n]
n=(n1,11,t1,m1), m = (n2,12,t2,m2)
(n]-[m] [nlx|m] [nlylm] (nlz|m]
2s1( 0)-2p1(-1) 0.0000000000 -0.0075622922 0.0000000000
2s1( 0)-2p1( 0) 0.0000000000 0.0000000000 -0.0075622922
2s1( 0)-2p1( 1) -0.0075622922 0.0000000000 0.0000000000
2p1(-1)-3d1(-2) -0.0014728728 0.0000000000 0.0000000000
2p1(-1)-3d1(-1) 0.0000000000 0.0000000000 -0.0014728728
2p1(-1)-3d1( 0) 0.0000000000 0.0008503635 0.0000000000
2p1(-1)-3d1( 1) 0.0000000000 0.0000000000 0.0000000000
2p1(-1)-3d1( 2) 0.0000000000 0.0014728728 0.0000000000
2p1( 0)-3d1(-2) 0.0000000000 0.0000000000 0.0000000000
2p1( 0)-3d1(-1) 0.0000000000 -0.0014728728 0.0000000000
2p1( 0)-3d1( 0) 0.0000000000 0.0000000000 -0.0017007270
2p1( 0)-3d1( 1) -0.0014728728 0.0000000000 0.0000000000
2p1( 0)-3d1( 2) 0.0000000000 0.0000000000 0.0000000000
2p1( 1)-3d1(-2) 0.0000000000 -0.0014728728 0.0000000000
2p1( 1)-3d1(-1) 0.0000000000 0.0000000000 0.0000000000
2p1( 1)-3d1( 0) 0.0008503635 0.0000000000 0.0000000000
2p1( 1)-3d1( 1) 0.0000000000 0.0000000000 -0.0014728728
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2p1(

[nld/dx|m]
[nld/dy|m]
[nld/dz|m]

n =

2s1(
2s1(
2s1(
2p1(-
2p1 (-
2p1(-
2p1(-
2p1(-
2p1(
2p1(
2p1(
2p1(
2p1(
2p1(
2p1(
2p1(
2p1(
2p1(

Definition of cubic harmonics

where r

zZ[0, 0]
Z[1, 1]
Z[1, 0]
Z[1,-1]
zZ[2, 2]
zZ[2, 1]
zZ[2, 0]
z[2,-1]
7[2,-2]

1)-3d1( 2)

-0.

0014728728

(n1,11,t1,m1), m = (n2,12,t2,m2)
[n] - [m]

0)-2p1(-1)
0)-2p1( 0)
0)-2p1( 1)
1)-3d1(-2)
1)-3d1(-1)
1)-3d1( 0)
1)-3d1( 1)
1)-3d1( 2)
0)-3d1(-2)
0)-3d1(-1)
0)-3d1( 0)
0)-3d1( 1)
0)-3d1( 2)
1)-3d1(-2)
1)-3d1(-1)
1)-3d1( 0)
1)-3d1( 1)
1)-3d1( 2)

1

= sqrt(3) * x
= sqrt(3) * z
= sqrt(3) * y

[nld/dx|m]

.0000000000
.0000000000
.1687804956
.0021283425
.0000000000
.0000000000
.0000000000
.0000000000
.0000000000
.0000000000
.0000000000
.0021283425
.0000000000
.0000000000
.0000000000
.0012287991
.0000000000
.0021283425

0.

|
O OO O OO O oo

| |
O O O O O

O O O O

0000000000

= <psiln] |d/dx|psi[m]> - <phil[n]|d/dx|phi[m]> =
<psiln]|d/dyl|psilm]> - <phil[n]|d/dy|phi[m]>
<psil[n]|d/dzlpsi[m]> - <phi[n]|d/dz|phi[m]>

[nld/dy|m]

.1687804956
.0000000000
.0000000000
.0000000000
.0000000000
.0012287991
.0000000000
.0021283425
.0000000000
.0021283425
.0000000000
.0000000000
.0000000000
.0021283425
.0000000000
.0000000000
.0000000000
.0000000000

0.

0000000000

-[mld/dx|n]
-[mld/dy|n]
-[mld/dz|n]

: Yel[l,m] = Z[1,m]/{sqrt(4*pi)*r~1}
= sqrt(xxx+y*xy+z*z), and Z[1l,m] is defined by

= sqrt(15)/2 * (x*xx-y*y)

= sqrt(15)  *
= sqrt(5)/2 =*
= sqrt(15)  *
= sqrt(15)  *

X*z

(3*z*z-1*r)

y*z
kY

00000000000 GhestOOODOOOODOOOODOO

Kleinman-Bylander energies :

S

p
d

present

s
0.000000
5.175955
3.431247
3.431247

Kleinman-Bylander RMS :

S

p
d

present

s
0.000000
1.587558
1.154322
1.154322

E[KB] (1,10c)

p
-4.924991

0.000000
-1.727463
-1.727463

Vrms [KB] (1,10c¢)

Kleinman-Bylander cosines :

p
1.674673

0.000000
0.462825
0.462825

CI[KB] (1,100)

O O O O

d

.234269
.5056620
.000000
.000000

d

.618200
.224204
.000000
.000000

[nld/dz|m]

.0000000000
.1687804956
.0000000000
.0000000000
.0021283425
.0000000000
.0000000000
.0000000000
.0000000000
.0000000000
.0024575982
.0000000000
.0000000000
.0000000000
.0000000000
.0000000000
.0021283425
.0000000000

21
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s P d
s 1.000000 -0.340036 -0.145999
p 0.306718 1.000000 -0.148911
d 0.336415 -0.267922 1.553030
present 0.336415 -0.267922 1.553030

Kleinman-Bylander local energy levels : Eloc[KB](i,1)

s P d
local-1 -1.599444 -0.121257 0.000000
local-2 -0.055272 0.000000 0.000000
E[KB] + - 0
eigen -0.501235 -0.199029 0.000000
ghost none none none

0000000000000000000000000000000
ooo No ghost states exist oo0o0
0000000000000000000000000000000

0000000000000 0000 ghest 0000000000000 ODOOOOOOOODOOOD “none”
0000000000 ghost 00D O0OD0O0ODOD“xists” 0000000 ghost 010D OODO0DOOOODODOSsOpd
dOODOOD0OO00O0 ghost DOODODOODOOODOODOODODOODOOODOODOOOONO “unknown” OO0 0O
oooo

000 “test_06-Cldamc.sum” 0000000

000000000000 “test_06-C_ldanc.pp” O “test_06_C_lda_nc.ciaopp” O “test_06_C_lda_nc.gncpp2” 0 O
000200 CIAOPPOOUOUOODOPHASED DODODODODODDOODODOMMPHASED DODDODOODOOO
00000 GNCPPOOO GNCPP2U0O00 (DD0OOUOOGNCPP20O0 )0 “test 06_.C_ldanc.pp” 00000
0000000000 0Hartree 000 0000000000000 ODODOOOOOOOOOOOOOOOOO
ooooooooooooood

0000 “test_06_Cldancoyho” D00 O0DO00ODO0OO0OODOOODOONOD “test_06_C_ldanc.sol” 00000
0000000000000 0000000000000000 “test_06_.C_lda_nc.us” O Kleinman-Bylander 0
00000000000 “est_06_.Cldancldr” OO0D0OO0D0O0O0O0DODO “test.06.Cldancft” DOOO0O0OO0O
Fourier OO OO OOOOOOOO

4.3.4 0DOO0O0O0O0O

0000000000000000000000000000O00000000O0000000'000000
ggbogooobooaoo

% ../../../tools/makefig_nc.pl test_06_C_lda_nc
O000Ognuplot 000000000000 0O0O0O0O0O0COOOOOOOOO
% ../../../tools/makefig nc.pl test_06_C_lda_nc -f

goopooopooooo «fo00000000ooOo00oDooOooooogoooDooo
ggbgoboobobooboobooboobooboaa

test_06_C_lda_nc_fig.pdf test_06_C_lda_nc_sol_rho.eps
test_06_C_lda_nc_ft.eps test_06_C_lda_nc_sol_rphi.eps
test_06_C_lda_nc_ldr.eps test_06_C_lda_nc_sol_vloc.eps
test_06_C_lda_nc_ldr_std.eps test_06_C_lda_nc_us_gbeta.eps
test_06_C_lda_nc_pp_rho.eps test_06_C_lda_nc_us_gphi.eps
test_06_C_lda_nc_pp_rphi.eps test_06_C_lda_nc_us_rbeta.eps
test_06_C_lda_nc_pp_vps.eps test_06_C_lda_nc_us_rphi.eps

O000epsO000O0D0OCOOOO0ODOpdf0O0DOOODDOODOOOOODODOOOOOODODODOOO
gbooooooboooon
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oono

g (r)

Vi(r)
D

Re(2s) = 1.44077
Re(2p) = 1. 44077
Ro(3d) = 1. 44077 |

1 | | | | -10 | |
0 1 2 3 4 5 0 1 2 3 4 5
r r
15 T T T T 4 T T
[ Sol ved] 2s
E(2s)=-0.50124 2p ——
E(2p) =- 0. 19903
E(3d)= 0. 00000 3d ——
10 —
~ G
o
0.0
05 | | | |
0 1 2 3 4 5
r q
0 1:00000000000000000 (p)UODO0OO (DLO)DOUODOODOUOLOODO (DO)OO
gooooa (DD)DDDDDDDDD Fourier 0 O (DD)DDDDDDDDDDDDDDDDD
000 sO pO0000d000000COOODODOODOODOODOODOODOOOOOOODOOODOOO
godobodoobodoobooooooobobooooobooooooboooooooboooan
0000000000000 00b000O000o0o00o0oo0o0ooOo0oo0oo00ooooooooooan
oooooooooboon

gbol1oobooboool1obooboooobooboooobooooboobooon
gbo20000000200000000000DO0O0O00ODODOOOODODOODOOO
obo3bboobooboo3obobooboobooooobobooooobooobonoo
obobo400000004000000000000000DO0O0O00ODOOOOCO

lD00000000000000gnuplot 0 latex 00 0000000000000000DDO0D0DOOODOO0
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4.

E(s1)=-0.50124
E(p1)=-0. 19903

20

|
o
—

-10 | E(d1)=-0.19903

1p/((3'4)'ha)Bop

-20
-2

O

1. 44077

E(s1)=-0.50124

E(p1) =- 0. 19903

Rc

|
-10

20

|
o
—

-10 | E(d1)=-0.19903

1p/((3'1)'ha)Boip

-20
-15

02 00000000000000000 (p2) 000000000000 0OOODDOOODOOO

ooog
oo

ooo

oooB
oood
oonot
oonot
ooob
ooot
oood
oood
oood
oood
oood
Oogod
oood
oood
opood
Oopood
opooU
Ooo®
OoQ.S
ooo ®
oot
Opood
Opood
Opod
Oqgod
Oqgod
Ogod
Oqgod
Ogod
Ogod
O «Ogd
o%oo
oooo
oooo
oooo
oooo
oooo
oooo
oooQ
oooo
ooog
ooog
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Total -
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Xn(), rBA(1)

oono

T T T T
sl
pl ——
di
C;
— [=
=
o
-05 | -
-1 1 1 1 1 1 1 1 1 1 1.0 1 1 1 1 1 1 1 1
o 1 2 3 4 5 6 7 8 9 10 0O 1 2 3 4 5 6 7 8 10
r q
8 T T T T 3 T T T
Rc(s1)= 1.44077
Rc(pl)= 1.44077
6 Re(dl)= 1.44077 —
2 - -
C;
4r 7 o
< 1t .
KA
2r . <
o
N \7 E—
2 ! ! ! ! T R I | .
0 1 2 3 4 5 0 5 10 15 20
r q

0 4 000000000D00000000 (p4)00000 (00)J00000 Fourier 00 (O
0)00000 (00)000000 Fourer 10 (00)000000000
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clAopp0 0000000 COO0OOOCODOOOOCOOOODOODOOOODOODOO “test-06-C_lda_nc.ciaopp”
gboooooboooooboobooon

### Atomic label
atomic_label C Carbon

### Atomic charge : Z, Za, Zc, Zv, (Ne, Nc, Nv)
atomic_charge 6 6.00000 2.00000 4.00000
6.00000 2.00000 4.00000

### Exchange-correlation potential
Xc_potential ldapw91l momo

### r-Mesh : Nmesh, rmin, rmax
rmesh logarithmic
1501 9.824262783544876E-06 6.000000000000000E+01

### g-Mesh : Nmesh, gmin, gmax
gmesh linear

601 0.000000000000000E+00 3.000000000000000E+01

### All-electron SCF energy levels

#AE scalar_relativistic

#AE  symm Energy (Ha) Energy (eV) mnocc focc
#AE 1s -9.9519701910 -270.8068768515 2  2.00000
#AE 2s -0.5012353821 -13.6393081754 2  2.00000
#AE 2p -0.1990292897 -5.4158623166 6 2.00000
#AE Total number of electrons 6.00000

### All-electron total energy

#AE Energy (Ha) Energy (eV)
#AE Ekin 37.2354471978 1013.2280312602
#AE Eion -87.5807031965 -2383.1920966254
#AE Eh 17.6342323884 479.8518591905
#AE Exc -4.7295735278 -128.6982387727
#AE Etot -37.4405971381 -1018.8104449475

000000000000 User's ManuallOOOOOOOOOOCIAOPPOOOODODOOOOODODO “make-
fig ciaopp.pl” 0000000000 OCOOODOOOOODOO

% ../../../tools/makefig_ciaopp.pl test_06_C_lda_nc

uboboooboobooooooobooo

ciaopp_test_06_C_lda_nc.pdf ciaopp_test_06_C_lda_nc_rbeta.eps
ciaopp_test_06_C_lda_nc_gbeta.eps ciaopp_test_06_C_lda_nc_rho.eps
ciaopp_test_06_C_lda_nc_gphi.eps ciaopp_test_06_C_lda_nc_rphi.eps
ciaopp_test_06_C_lda_nc_ldr.eps ciaopp_test_06_C_lda_nc_vloc.eps

ciaopp_test_06_C_lda_nc_ldr_std.eps

00000 “ciaopp-test_06_.C_ldanc.pdf” 00000000000 OOOOOOOOOOOOOOOOOOOO
“test_06_Cldanc fig.pdf” D000 O00O0O0000O00C00OD0O0OO Fourier 0000000 OOCOOOOOO
obooooobooooog
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44 0O0OO0OO0OO0OO0OOOOOOOOOOOOO0

ubobooooooooooooboooobobobooboobooooooooobOOobOobOoboboon
gbooooooobooooobooooon
gboobooobooboooooboboobooboooooooboo

ciao/tutorials/atom_06_C/lda_us/

gboooobooon
gbooboobooobooboboooooboooooo

4.4.1 0O0O0OOO
gbooooooboooooboooooon

# Jobname
jobname test_06_C_lda_us

# Atom number & Electron configuration
# (calc_type : nonrel, srel, rel)
# (spin_type : restricted, polarized)

atom_number 6 6.0
electron_config 6 srel restricted

1s 2.0 1

2s 2.0 1

2p 2.0 1

3s 0.0 O

3p 0.0 O

3d 0.0 0

# Exchange-correlation potential
#  (xc_type : ldapz81, ldapw9l, ggapbe, xlda, none)
xc_potential  ldapw9l

# Pseudopotential (pp_type : nc, general, none)

# (local : orbital, special)
pseudo_potential  general
local orbital d
orbitals 3
2s us 2
1.30 0.00 0.8
1.30 0.30 0.8
2p us 2
1.35 0.00 0.8
1.35 -0.30 0.8
3d nc 1
1.40 0.00 0.8
phi_np 5
phi_gmesh 800 4.00 40.0
qps_np 5

gqps_gmesh 600 14.00 40.0

# Solve PP spin
solve_pp_spin
spin polarized 2.0
mix 0.30
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# End of input data
end

28

goo0oooOo0o0o0ooDoOooOOo0oooDoo0oOooOoDOooOogO “pseudo-potential general” 00 0O O
O0000000OUser’s ManualODOOOOOOOOODO

4.4.2 0O0000OO0OOOOO

gobooooboooboo

% ../../../bin/ciao input &

obooooboobooboobOobooooboboooooboobooboOoboOonono

gboooobooooooboo

% grep ETOT test_06_C_lda_us.log
### ETOT ### etot,dee ...
### ETOT ### etot,dee ...
### ETOT ### etot,dee ...
### ETOT ### etot,dee ...
### ETOT ### etot,dee ...

O W N e

37
38
39
40
41

.815483474707555E+01
.786628402734097E+01
.769797851670442E+01
.760003389771333E+01
.754202316415265E+01

.744059771489398E+01
.744059748588376E+01
.744059732644782E+01
.744059721542435E+01
.744059713810221E+01

=N PN W

NN D O

.715483474707555E+01
.562625330376952E-03
.444732694526341E-03
.598139816640106E-03
.542837267606992E-03

.785367032223400E-09
.116628469391214E-09
.258370469032544E-09
.965323279701078E-09
.065195008190863E-09

ggbobodbgobgoboobobbobboboobooboobooboon

% grep STOT test_06_C_lda_us.log
### STOT ### etot,dee ...
### STOT ### etot,dee ...
### STOT ### etot,dee ...
### STOT ### etot,dee ...
### STOT ### etot,dee ...

gbooooo

4.4.3 0O0O0OOO

g W N

18
19
20
21

.435080750999449E+00
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